

Revisiting Factoring Quadratics - Example 3

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using [▶ The Quadratic Formula](#)

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using [▶ The Quadratic Formula](#)

[▶ We can find](#) the roots to be:

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using ▶ The Quadratic Formula

▶ We can find the roots to be: $r_1, r_2 = \frac{1}{2}, \frac{-2}{3}$

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using ▶ The Quadratic Formula

▶ We can find the roots to be: $r_1, r_2 = \frac{1}{2}, \frac{-2}{3}$

So, we get the factored form:

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using ▶ The Quadratic Formula

▶ We can find the roots to be: $r_1, r_2 = \frac{1}{2}, \frac{-2}{3}$

So, we get the factored form:

$$6x^2 + x - 2 = 6 \left(x - \frac{1}{2} \right) \cdot \left(x - \frac{-2}{3} \right)$$

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using [▶ The Quadratic Formula](#)

[▶ We can find](#) the roots to be: $r_1, r_2 = \frac{1}{2}, \frac{-2}{3}$

So, we get the factored form:

$$6x^2 + x - 2 = 6 \left(x - \frac{1}{2} \right) \cdot \left(x - \frac{-2}{3} \right)$$

If we wish, we can simplify: $-\frac{-2}{3} = \frac{2}{3}$

Revisiting Factoring Quadratics - Example 3

Example: Write $6x^2 + x - 2$ in factored form:

We found that the general factored form will be:

$$6x^2 + x - 2 = a(x - r_1) \cdot (x - r_2)$$

We know that $a = 6$ and we can find r_1, r_2 using ▶ The Quadratic Formula

▶ We can find the roots to be: $r_1, r_2 = \frac{1}{2}, \frac{-2}{3}$

So, we get the factored form:

$$6x^2 + x - 2 = 6 \left(x - \frac{1}{2} \right) \cdot \left(x - \frac{-2}{3} \right)$$

If we wish, we can simplify: $-\frac{-2}{3} = \frac{2}{3}$

$$6x^2 + x - 2 = 6 \left(x - \frac{1}{2} \right) \cdot \left(x + \frac{2}{3} \right)$$